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Problem 1

A closed economy is an economy without international trade, while an open economy is an economy that participates in international trade.

The public sector refers to the portion of the economy controlled by the government, while the private sector refers to the portion of the economy controlled by households and firms.

The government budget deficit refers to yearly borrowing by the government, while government debt refers to the total accumulated borrowing that is owed by the government.

Aggregate income, aggregate expenditure, and aggregate production are each equal in value and are each measured by GDP.

Problem 2

a.
See Section 4 in the text and equation 2.9.

b. From equation 2.9, you can see that a larger budget deficit, (TR +G)>T, will lead 

to a larger trade deficit, NX<0, everything else being equal.  Looking at Figure 2.4 in the text, you can see that trade deficits in the U.S. tended to be larger in the mid 1980s when the government budget deficit was at its the largest.

c. 
Given that the budget deficit decreased dramatically and actually turned into a budget surplus in the late 1990s, we should have witnessed a decrease in the U.S. trade deficit, everything else being equal.  However, once again looking at Figure 2.4, you see that the trade deficit actually increased during the late 1990s.  The only explanation must be a change in one of the other variables in equation 2.9.  The low private savings rate, S, in the U.S. is the most likely source of this decrease in net exports. (This will be discussed more fully in Chapter 6.)

Problem 3

a. We know that the trade deficit is TD=G+TR-T.  So rewriting this equation we

can obtain G= TD + T – TR = 200-200+500=$500.

b. 
The GDP accounting identity is Y=C+I+G+NX.  So GDP equals 

5,000+1,000+500+600-800=$6,300.

c. 
Given that NX=-$200, this country must also have a negative level of net foreign investment of -$200.  Thus, this country is a net foreign borrower.

d. 
C/Y=5,000/6,300= 79.4%.  

I/Y=1,000/6,300= 15.9%.

Problem 4 

Stocks are variables that are measured at a particular point in time, while flows are measure over a period of time.  Stock variables are useful in giving you a snapshot of the overall level of assets and liabilities that have been accumulated over time.  Flow variables allow you to investigate the rates of change in these stock variables.

Problem 5

Flow variables are measured with respect to time (thus they have a "per unit time" dimension), while stock variables are measured at a point in time. 

Therefore, the stock variables are national debt and capital. The flow variables are Consumption, Gross Domestic Product, Net Domestic Product, the government budget deficit, transfer payments and interest payments on debt.

Problem 6

a. 
From the GDP accounting identity, Y = C + I + G, it is possible to obtain the figure for gross investment. Since we have numbers for GDP (Y), consumption (C), and government spending (G), gross investment is 

I = Y - C - G = $5,000 - $2,600 - $1,200 = $1,200.

b. Net Investment is simply Gross Investment minus the Depreciation cost of maintaining the existing capital stock.  So,  

Net Investment = Gross Investment - Depreciation

=  $1,200 - (0.10)($10,000) =  $200.

c. The Net Domestic Product is obtained by subtracting depreciation costs from the Gross Domestic Product.  Thus, 

NDP = GDP - Depreciation = $5,000 - $1,000 =  $ 4,000.

d. The capital stock in any year is the capital stock inherited from the previous year plus new investment that took place last year.  We care only about net investment since a part of gross investment is used to cover for the depreciation of the existing capital stock. Hence, 

Capital Stock in 2002 = Capital Stock in 2001 + Net Investment in 2001

                                                                                    =  $10,000 + $200 =  $10,200.

Problem 7


The table below shows the capital stock for the years 1994-1999.

YEAR
GROSS

INVESTMENT
CAPITAL STOCK
DEPRECIATION

(from previous year)

1994
-
$ 5,000.00
-

1995
$ 1,000
$ 5,500.00
$ 500.00

1996
  $ 800
$ 5,750.00
$ 550.00

1997
$ 1,200
$ 6,375.00  
$ 575.00

1998
  $ 500
$ 6,237.50
$ 637.50

1999
  $ 900
$ 6,513.75
$ 623.75

The second column is calculated as follows: 

In 1995, for instance, capital stock = capital from 1994 + gross investment - depreciation cost.

Problem 8

  John’s balance sheet:

ASSETS
LIABILITIES

Car: $20,000
Credit Card: $2,000

Credit to Joan: $17,000

House: $50,000
Mortgage: $45,000

Net Worth: $44,000

Joan’s balance sheet:
Assets
Liabilities

Car: $11,000

Jewelry: $2,000

House: $50,000

Credit Card: $1,000
Debit: $17,000

Mortgage: $45,000

Credit Card Debts: $700
Net Worth: $1,300

The Brown family's balance sheet:

Assets
Liabilities

Cars: $31,000

Credit Card: $3,000

House: $100,000

Jewelry: $2,000 
Mortgage: $90,000

Credit Debts: $700

Net Worth: $45,300

Problem 9

a.
GDP using the expenditure method

Y = value of finals goods and services =  $5 + $80 = $85

b.
Value added by firm A = $5 + $25 = $30.

c. 
Value added by firm B = $80 - $25 = $55.

d. 
Assume that all profits go back to the households. 

Profits of firm A = Revenue from sales - Cost of inputs = $30 - ($5 +$25) = $0.

Firm B spends $30 - $10 = $20 in wages. The problem is not specific about whether it employs capital too.  Supposing that it does not, then

Firm B's profits
 = $80 - $20 - $25 = $35. 

Thus total profits earned by households from Firms A and B are $35.         

e. $25, the value of the goods that firm A sells to firm B.

Problem 10

a.
GDP per capita seems to be the most appropriate measure to compare the well being of these two countries.

b. 
GDP per capita is $133.33 in Country A.  GDP per capita is $102.86 in Country B, so Country A is better off.

c. Country A produces 91.7% of the world’s output and Country B produces 8.3%.

Problem 11

1994-1995 inflation was ((129.96-126.35)/126.35)*100=2.86%.

1995-1996 inflation was ((132.37-129.96)/129.96)*100=1.86%.

1996-1997 inflation was  (135.32-132.37)/132.37)*100=2.22%.

� Verify that you get the same answer using the value added and the income methods. 


By the value added method, Y = Sum of value added = $30 + $55 = $85.  By income method, 


Y = Wages + Rent + Profit = $30 + $20 + $35 = $85.


� If we assume that the firm employs capital too and that the production function exhibits constant returns to scale, these $35 are payments to capital so that Firm B makes zero profit like Firm A.
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